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TI- 4 Plus Statistics Tutorial
Finding One Variable Statistics for a list of data

First enter the data in list L1 by pressing STAT, then selecting EDIT and pressing the ENTER
key. After the data values have been entered, press STAT and select CALC, then select 1-Var
Stats and press the ENTER key twice. The display will include the mean %, the median, the
minimum value, and the maximum value. Use the down-arrow key to see the results that
don't fit on the initial display.

CHLC TESTS L1 L2 L3 1 EDIT TESTS 1-Var Stats
1| P 581— ar X=22.79
Sortﬁ( 23 2-Uar Stats 2X=273

3'bortD( 38 3 -Med S%2=6429

4:Clrlist 25 1nReg(ax+b> Sx=4,4354313538

5-5etUpEd1tor 20 S-QuaﬂReg ax=4.264688527
25 6:CubicReg +h=12
Ly =21 7LQuartReg

Summary Statistics

the mean or average

ox the sum of all the data

T x? the sum of the squares

Sx the sample standard deviation

ox the population standard deviation

n the number of elements

minX the minimum element

Q4 the first quartile

Med the median of the data » 5-Number Summary
Qs the third quartile

maxX the maximum element

Calculating Permutations, Combinations, and Factorials

To calculate a permutation, first enter the value for n, then press MATH, select PRB and
nPr, then enter the value for r, and press the ENTER key.

To calculate a combination, enter the value for n, then press MATH, select PRB and nCr,
then enter the value for r, and press the ENTER key.

To calculate a factorial, first enter the number, then press MATH and select PRB and menu
item 4.

MATH NUN CPX sl 9 ntr 3

rand 84
St nPr 18 nPr S
3:nCr 30240
g4z ! S!
StrandlInt( 126
6: randNorm¢
?irandBin



Clearing Lists

To clear a list from the data editor, move the cursor up to highlight the list name as shown
below. Now, press CLEAR and then ENTER.

1 ={116,99,118,.. L=

To clear multiple lists, select STAT, then select Edit and choose option 4:ClrList and enter
the lists separated by commas as shown below.

L1 L2 L3 1 %JEE CALC TESTS ClrList Li1sLz5Lz
? 3

Y g ] Sortﬁ( Bone

g H o 3:50rt0¢

i s ;3 3 Pl{Llst

4 i g & tSetUprEditor

LIn=5

To clear all lists go to MEM and select 4:ClrAllLists, then press ENTER.

UR ClrAllLists D

T Hbout,
2'Nem Momt.70el...
lear Entries
LlrﬁllL1s s
tArchive
&:UnArchive
Reset..

one

Histograms

First enter the data in list L1. Then press 2nd and Y= (to get STAT PLOT). Press ENTER to
select the first plot and then turn the plot on. Now select the graph type that resembles a
histogram and set X-list to L1. If you want to let the calculator determine the class width
and starting point, press the ZOOM button and arrow down to ZoomStat to get a histogram
with default settings. To enter your own class width and class boundaries, press the
WINDOW button and enter the maximum and minimum values. The Xscl value will be the
class width. Then press GRAPH to obtain the graph.

W A0 Plotz Plot3

otl.Un off

dmtt 1 dpes L 5wl
i R |~

2iPlot2. Off ., e e
el L2 Klist:il4

3:Plot3.. DPF Frea:B

L |zt LY °

LK =60 4&P10tsUFF

MEMORY

ecxmal
5t 2S4uare
6: Z2Standard
7:2Trig
g: 21Integer
tHZoomStat
vdZoonFit L 1




Box-and-Whisker Plot

To obtain a box-and-whisker plot, simply select the graph type that is positioned in the
middle of the second row and follow the same steps as before for the histogram. Press the
TRACE button and use the arrow keys to view the minimum value, first quartile, median,
third quartile, or maximum value. Each screen shot below shows the trace cursorin a
different location along with the value of minX, Q,, Med, Q3, and maxX at the bottom left
corner.
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Calculating a Binomial Probability

To get to the binomial probability commands, press 2nd VARS (to get DISTR, which
denotes “distributions”), then select the option identified as binompdf(. or binomedf(,
depending on the probability we are trying to find. The variable n represents the fixed
number of trials, p is the probability of success, and x is the number of successes. See the
table below to determine which command to use and how to input the values. The
displays for the TI-83 and TI-84 calculators may be different when inputting the
values of n, p, and x.

Verbal Phrase Symbol Command
Probability of exactly x successes

P(X =x) binompdf(n, p, x)
Probability of getting x successes
Probability of at most x successes

Probability of less than or equal PX = x) binomcdf(n, p, x)

to x successes
Probability of fewer than x
successes

P(X <x) binomcdf(n, p, x - 1)
Probability of less than x
successes

Probability of at least x successes

Probability of greater or equal to P(X 2 x) 1-binomedf(n, p, x- 1)

X successes
Probability of more than x
successes

Probability of greater than x P(X > x) 1 - binomed(n, p, %)
successes

Probability of exceeding x
successes

Note that you only use the binompdf command when finding probabilities of the form
P(X =x).



Calculating a Normal Probability
1. Find probabilities of the form P(x; < X < x;)

Press 2nd VARS, then use the down arrow key to select 2:normalcdf (normal cumulative
density function), press the ENTER key, then enter the lower value x,, upper value x,,
mean y, and standard deviation g, i.e,, normalcdf(x,, x,, i, ¢). For example, the probability
P(45 < X < 60) would be entered as follows in the calculator (with u = 40 and ¢ = 9):

?ﬂﬂﬂi DRAL normnalcdf (45,68,

Tnormalpdf( 40,

#Hnormalcdf( . 2761232249
¢ invNorme

4-1nuT(

Sttrdf(

6:tedf(

7iXepdf¢

2. Finding probabilities of the form P(X > x)

Suppose we are asked to find P(X > 60) when = 40 and o = 9. In this example, there is
no specific upper value, so we use this trick: for the upper limit, enter a value that is
excessively large to represent infinity, such as 999999 (or E99).

.;l.@!l.‘é DRAW norm ch(GB, 999
thormalpdfC 999, 4 9)
9131341011

3. Finding probabilities of the form P(X < x)

Suppose now that we want to find P(X < 70) when p = 40 and o = 9. There is no specific
lower value, so we enter an excessively large negative value to represent negative infinity,
such as -999999 (or -E99).

% DRAW n
normalpdf( 9
Hnormalcdf(
¢ invNorng

?szpdf(

Calculating a Standard Normal Probability

We can calculate a standard normal probability using the same procedures as above, except
it's not necessary to enter values for u and o since the calculator uses ¢ = 0 and o0 = 1 by
default (Recall that a standard normal distribution has mean y = 0 and standard deviation
o = 1). For example, to calculate the probability P(—1 < z < 1), we enter it in the
following manner: normalcdf(-1, 1).



Finding an x-value given a Normal Probability

To find values given a probability (or percentage), press 2nd, VARS, 3 (for invNorm) and
proceed to enter the following values, including the commas:

(total area to the left, u, o)

For example, assume that women’s heights are normally distributed with a mean of 63.6 in.
and a standard deviation of 2.5 in., and suppose we want to find the minimum height of the
tallest 5% of women. The minimum height separates the bottom 95% from the top 5%;

thus, the total area to the left is 0.95. The minimum height (67.7 in) is calculated as follows:

{191;5 DRAW invNorm¢.95,63.6
fhormalpdf( 1 2.
2:normalcdf( 67.712134096
sHinvhorm(
$invT¢
5:tedf(
6:tcdf¢
FXzpdf(

Note: Remember to use the area to the left of the desired value. In the above example, the
area to the left of the minimum height of the tallest 5% of women is 0.95 and the area to the
right of it is 0.05.

Finding a z-score given a Standard Normal Probability

We can find a z-score by using the command invNorm(p), where p is the standard normal
probability. In other words, p = P(z < z;), which is the area under the standard normal
curve to the left of some unknown z-score z,.

For example, to calculate z, given a standard normal probability of p = 0.85, which is the
area under the standard normal curve to the left of the unknown z-score z,, we enter it as
follows:

?ﬂgﬂﬁ DRAL invNorm(@,.85)
thormalprdf ¢ 1.83643338
2:normalcdf(

Calculating a Poisson Probability

Press 2nd VARS (to get DISTR), then select poissonpdf(. Now press ENTER, then proceed
to enter g, x (including the comma). For y, enter the value of the mean; for x, enter the
desired number of occurrences.



Finding a Confidence Interval for the Mean (¢ Known)

We can generate confidence intervals for original sample values stored in a list, or you can
use the summary statistics n, £, and o (highlight Stats, then press ENTER). Either enter the
data in list L1 or have the summary statistics available, then press the STAT key. Now
select TESTS and choose ZInterval if ¢ is known.

1. Finding a confidence interval given a list of data

EDIT CHLC [ TESTH ZInterual 2Interval
1:Z2-Test. nPt !EHE Stats €98.882,98.318>
2:T-Test.. gi.b §=98.2
3:2-SampzTest.. Llst L1 X=. 6228964601
4:2-SampTTest.. Frea:1l nh=186
5:1-ProrZTest.. C-Level:.95
. 6:2~PropZTest... Calculate
LKH=98.6 ZInterval..

2. Finding a confidence interval given statistics

val
32 »98.318>

I

2

T-Test,.
2-SanprlTest..
2-SamplTest..
1-P T
2
2

CICIS XIQ =t
["TI BCLELE L o §

Finding a Confidence Interval for the Mean (¢ Unknown)

Follow the same procedure as above, except use TInterval (option 8) instead of ZInterval.
Since ¢ is unknown, we will use s as an approximation to a.

T%ntirval Stat T%ntgrﬁa% .
ne ‘?3@2 ats netiData
Llst 1 X198,.2
Freq:1 Sxi,6228964600..
C~Leuel=.95 n: 106
Calculate C-Level: .95
Calculate

Finding a Confidence Interval for a Proportion

Press STAT, select TESTS, then select 1-PropZint and proceed to enter the required items.

CALC 1-Pror2Int 1~-p ZInt

EDIT ~-Prop
612-ProrZTest.. %8985 Ce365325.41468>
7:2lnterval.. n: 15606 P=.39
8: Tinterval.. C-Level: .95 n=1560
9: 2-SampPZInt.. Calculate
B:2-SamrTInt..
EEI—PPOPZIHtm
2-ProrZint..

\a/



Finding a Confidence Interval for a Population Standard Deviation or Variance

You can use the S2INT to find confidence intervals for a population standard deviation or
variance. You can access the program by going to PRGM, then arrow down until you find
S2INT. If your calculator does not have S2INT, go up to the TMARC counter and we will
transfer the programs to your calculator. If your calculator does have S2INT, select it and
press ENTER and press ENTER again to run the program. Then enter the sample variance
s2, the sample size n, and the confidence level (such as 0.95). Press the ENTER key, and
wait a while for the display of the confidence interval limits for 2. Press ENTER again to
display the confidence interval limits for . To exit the program, press ENTER one more
time.

EDIT_NEW g%gg EDIT_NEW PramS2INTR
CHIZDIST DCT INT
tCHISGER tPRDCTVAL
J:FVAL tPS2
4:G0F : RYAL
SIGSPRL HHS2INT
6:HISTPRB $S2TEST
74 INVCHIZ JSAMPLSIZ
PHaIMS2INT 2523.152
INPUT: STRTS C-LEVEL=,93
Sxe=,152 gxe INTERVAL:
n=18 0196451386 .0..
C-LEVEL=.951 ox INTERVAL:
£.1831¢52811 .2..

Finding a Confidence Interval for Two Population Proportions

Press STAT, then select TESTS and arrow down to find 2-PropZInt and proceed to enter
the required items. You will also be asked to enter the confidence level (such as 0.95).
Arrow down to highlight Calculate and then press the ENTER key. The confidence interval
will be displayed along with the sample proportions ; and p, and the sample sizes n; and
ns.

g CALC TESTS EDIT CALC 2-Prapzlnt
Edit.. 7tZinterval.. %1341 (-.08035,7.1-5>
tSortHC 8: TInterval.. ni:11541 £1=.0835520518
3:SortDC 9t 2-SampZInt.. x2: 952 B2=, 0852775884
4:ClrList g:12-SanpTInt.. n2: 9853 ni=11541
S5:SetUrEditor A: 1-ProrZln C-Level:.95 h2=9853
i ?EP OP%Int Calculate |
{e—-Test.



Finding a Confidence Interval for Two Means: Independent Samples

First enter the data in list L1 and L2 if you are given data. Then press STAT, select TESTS,
and then choose 2-SampTInt. Highlight Data, press ENTER, and make sure you are

working with lists L1 and L2. Input the confidence level , highlight No for Pooled, highlight
Calculate and press ENTER.

&’E’d CALC TESTS L1 2 EE%TPCHL%
: 50| [ -PropZTest..
Sortﬂ( 95 |53 7:Z2interva
3=SortD( 138 ed 8:TInterval
4:Clrl 1?8 | 203 91 2-SanpZInt
5=SetUPEdit0P 129 | 188 g2~ SamPEIn
19.4 18,9 s 1-ProrZint.
LW=20.4 B¢2 rorZInt
InPt.' AE Stals (-2.442, -, 3577)
Listlil1 df=17,190846919
List2:L2 X1=18.76
Fregi:l Xe=20.16
Freqz 1 Sx1=1.18621714
C~Lev 4Sx2=1.47888847
~LPooled LE Ves |

If you are given summary statistics, follow the same steps as above except highlight Stats
instead of Data. Then proceed to enter the required items.

Finding a Confidence Interval for Two Means: Dependent Samples (Matched Pairs)

First enter the data in list L1 and L2. Then highlight L3 as shown in the third screen shot
below, input L1-L2, and then press the ENTER key. List L3 will now contain the individual
differences d. Now press STAT, then select TESTS, and choose the option TInterval. Use

the input option of Data. For the list, enter L3. Also enter the confidence level (such as
0.95). Press ENTER when done.

y .gﬂLC TESTS L1 L2 ki3 2 L L2 W 3 U L2 L3 3
it.. 2015 | 20.68 | ouen 2045 [ 20.68 | caoene 20.15 | 20.60 | A=
2:SortA¢ 19.z4 | 1948 19728 | 190yg 4% | 3568 2N
31 28rtDg i |2 e | g | |
iClrli . ‘38 . . . X 3
HEETE T B i L il R
L6 = t3=Lt~Lz2 L3(h=-,53
EDIT _CRLC m=f=ygs
21T-Test,... Inpt,-ltﬁzz Stats ( ?252, . ?4516)
3:2-SampZTest.... Lists .81
4:2-SamrTTest.. Fre«:1l Sx—.??11831959
S:1-Pror2lest.. C-Level: .3 n=3
6:2-ProrZ2Test.. Calculate
7:Z2lnterval..
MTinterval..



Hypothesis Test for the Mean (o is known)

Press STAT, then select TESTS and choose the first option, Z-Test. You can use the original
data or the summary statistics (Stats) by providing the entries indicated in the window
display. You will also be asked to select the alternative hypothesis, which will be one of the
following: u # po, p < pg, or p > y,. The first three items of the results will include the
alternative hypothesis, the test statistics, and the P-value.

1. Given a list of data

EDIT_CALC === Z-Test 2-Test

2-Test.. Inpt: 2 Stats n#98.6
2:T-Test, nogt98. z=-6,642342026
g:Z—bamPZTestm o.62 p=3.1839e-11

1 2-SampTTest.. ListilL1 %=98.2
2:1-PropZTest.. Freq:l Sx=, 6228964601
62 2-ProrZ2Test.. <{wup >uop n=106
7dZInterval.. Ca culate Draw

SIncEiDats HEIE  ‘niSale

nrt.tData 1} .
K098, z=-6,642342026
gi,.62 P=3.1839%e-11
X:98,2 X=98.2
n:106 n=186

: TY <o JKao
L =98, 6 Calculate Draw

Hypothesis Test for the Mean (¢ Unknown)

Follow the same procedure as above, except use T-Test instead of Z-Test. Since ¢ is
unknown, we will use s as an approximation to o.

Hypothesis Test for a Proportion

Press STAT, select TESTS, and then select 1-PropZTest. Enter the claimed value of the
population proportion for p,, then enter the values for x and n, and then select the
alternative hypothesis. Highlight Calculate, then press the ENTER key.

EDIT CHLC [TESTH 1-PropZTest 1-Pror2Test

1:2-T POS. 7S Prop#.73

2:T- Test x3585 z-'32 19937838

g:%—gamp%$es%m h: 15606 <P SPu p 939
:2=-SampTlest.. Pro =
1-PropZTest.. Calculate Drau n=1568
s2-PropZ2Test..

?¢Zlnterual

10



Hypothesis Test for Standard Deviation or Variance

You can use S2TEST for a hypothesis test for the standard deviation or variance. You can
access the program by going to PRGM, then arrow down until you find S2TEST. If your
calculator does not have S2TEST, go up to the TMARC counter and we'll transfer the
programs to your calculator. If your calculator does have S2TEST, select it and press
ENTER and press ENTER again to run the program. You will be asked to input the
population variance o2, the sample variance s?, and the sample size n. Then select the
format used for the alternative hypothesis and press the ENTER key. The test statistic and
P-value will be displayed.

e EDIT_HEW E%Eg EDIT NEW PrImS2TEST
CHIZ2DIST DCTVAL
25 CHISGR $PSZ
3:EUAL : RUAL
4:GOF :S2INT
S W ANPrs 2
7L INVCHIZ $SOLVGRAF
PramS2TEST 52 TEST
:¥3515MAG2 SIGMA2<2,719904¢€
INPUT: STATS <SIGMAB2 Re=18, 4825225
gxZ=,82502 :251GMAB? P=.080868732909
ng;.@16482 4: QUIT . Done
n=

Hypothesis Test for Two Proportions

Press STAT, select TESTS, and then select 2-PropZTest and proceed to enter the required
items. Then select the format used for the alternative hypothesis and press the ENTER key.
The calculator will then output the test statistic, the P-value, the sample proportions 5, and
P2, the pooled sample proportion 7, and the sample sizes n, and n,.

CHLC TESTS EDIT_CRLC Wi=f:=HEs 2-Prop2Test

LRy Sisfest- wlitlsa | 91164305

: or : es nils z*‘
J:SortDC J12-SampZTest.. x2:52 p=.0279689289
4:ClrList 4:12-SamrITest.. n2:9853 £1=.08035525518
S:SetUrEditor S 1-ProrZTest.. rli#p2 >P2 Pz=,0052775804
g&%lﬁ{oiZTTstm Calculate Draw ¢ﬁ=.@3434?6132

erval..

11



Hypothesis Test for Two Means: Independent Samples

First enter the data in list L1 and L2 if you are given data. Then press STAT, select TESTS,
and then choose 2-SampTTest. Highlight Data, press ENTER, and make sure you are
working with lists L1 and L2. Then select the format for the alternative hypothesis,
highlight No for Pooled, highlight Calculate and press ENTER.

_CALC TESTS u L2 3 2 EDIT CHLC IES [ 5
it.. 195 1:Z2-Test
tSortH( 203 249 2:T-Test..
3:SortD( 138 |24 3:2-SampgTest..
4:Clrlist 178 | 383 H2-SampTTest..
5:SetUprEditor 129 | 188 t1-ProrZlest..
191 1183 6 2-PropZTest..
=209, 4 7dZ2interval..
2- samvat
Inpt 2|y Stats TERSTE
isti:® 1 t=-2,.335208018
ist2:L2 P=. 0159501092
Frealsl df=17.19848919
Fre«2:1 X1=18.76
wls#@u2 AV IX2=208.16

Pooled: Yes

If you are given summary statistics, follow the same steps as above except highlight Stats
instead of Data. Then proceed to enter the required items.

Hypothesis Test for Two Means: Dependent Samples (Matched Pairs)

First enter the data in list L1 and L2. Then highlight L3 as shown in the third screen shot
below, input L1-L2, and then press the ENTER key. List L3 will now contain the individual
differences d. Now press STAT, then select TESTS, and choose the option T-Test. Use the
input option of Data. For the list, enter L3. Also enter the assumed value of the population
mean difference (typically 0) for u, and select the format for the alternative hypothesis.
Press ENTER when done.

,.
v
A
w
-

Y CALC TESTS L L2 |L3 g u 1
it.. 2015 | 20.68 | wewrm 2045 | 20.68 | cmmemm 2015 [ 20.60 | Goxa
tSortAC 1924 | 137yg 19.24 | 1848 192k [13ug | -2y
3iZertne i | e g | e i |tees |8
5: SatUsEditor 2132 | e wsz 2096 elsz | 2038 |36
L2te = Lz=l1-Le2 L=-, 53
EDIT_CALC u=ags T-Test
1=Z—Testm Inpt:DEYE Stats e
?HT -Test.. Ko:e 1=.8289983607
12~ SamPZTestm List:Ls: P=.97823550837
4:2-SampT Jest... Fre«:l X=.081
St 1-ProrZTest.. T {wa 1o Sx=.77118631859
6:2-Prop2Test.. Calculate Draw n=sS
7dZ21lnterval..

12



Goodness-of-Fit

First enter the data in list L1 and L2. The observed frequencies go in list L1 and the expected
frequencies go in list L2. Then press PRGM and select GOF (or X2GOF). Press ENTER to
execute the program. Input the degrees of freedom and press ENTER. The final display will
show the test statistic ¥ and the P-value.

2 H¢ EDIT_NEW PronGOFN
5 ?"%5:1, 12DIST
g 2:CHISER
8 3:FVAL
g ERGOF
g SGSPRL
] 5:HISTPRB
74INUCHI2
%230F-TEST ALTUE=1ED
HAVE YOU ENTERED ;;“:*”Eg t'
DATH INTO_ BT T To5m2
bt CRTEdER 2 1 P=_, 2589612558
5 CNTRB=

{.125 4.5 .5 .5»

Contingency Tables

First enter the contingency table as a matrix. Press 2nd followed by the x~1 key (to get
MATRIX). Arrow to the right to highlight EDIT, then press ENTER to edit matrix [A]. Now
enter the dimensions of the matrix (rows by columns) and proceed to enter the individual
frequencies. When you’re done entering the contingency table, press STAT, highlight TESTS,
and select y2-Test. Set Observed to matrix [A] and Expected to matrix [B] and then highlight
Calculate and press ENTER. The final display will show the test statistic, the P-value, and the
degrees of freedom. The expected frequencies are stored in matrix [B].

E MATH EDIT NH?E? MATH (=& MATRIXIA) 2 %3 MATRIXIAY 2 x3

8] e (- ] M Y]
3: [C] J:IC)
4: [D] 4: [D]
5: [E] St [E]
63 [F] &: [F]
7461 74 [G] 1,1=0 25,3510
EDIT CALC = §2-Test MATRIXIBl 2 x3
912-SamprZInt.. Ubser*ued= [R] X2=2,925496946 [ BB.5?  Y4.715 g ]
@:2-SanpTInt.. Expected: [B] P=.231598856 Liny3 288 aa&ll
Asl- PrOPZInt Calculate Draw df=2
B: 2-ProrF [ |

Xi-Tes

$X2G0F-Test..

Ed2-SameFTest.. 25 3=7.285024154..

13



One-Way ANOVA

First enter the data in lists L1, L2, L3, ... then press STAT, select TESTS, and choose the option
ANOVA. We will then enter the lists L1, L2, L3, ... separated with commas. Then press
ENTER.

L1 L2 L3 3 EDIT CALC ANOVACL1-L25L3>

28 w2 37 BT2-ProrZlnt. F=4, 894413408
i3 Yz 33 C:X2-Tes P=.8279863448
b g i D: XZGDF -Test Factor

uly yiy w3 E:2-SampFTest.. df=2

iR e EifEEE , FRELEEest
------ oomeos 52 aegTInt. =81.

L3I = ;HHNDF)H( [ |

Correlation and Regression

Enter the paired data in lists L1 and L2, then press STAT and select TESTS. Using the
option of LinRegTTest will result in several displayed values, including the value of the
linear correlation coefficient r. Set the X-list to L1 and the Y-list to L2. Choose # 0 for the
alternative hypothesis, highlight Calculate and then press the ENTER key. Use the up and
down arrow key to display other values.

.CALC TESTS Li L2 Lz 2 EDIT CALL
it.. 1Y 8.1 B'I‘Z-PrOPZI
2% Sor‘tﬂg [ 643 CiXz-Test..
J:SortDd % it D: XZGOF —Test..
4:ClrlLis 7 7.26 E: 2—SamPF‘Test
S5:SetUpEditor s - Lin egTTest,
------ =L1nRegTIn
LU= Hs ANOVAC
LinR¢3TText LinRedTTe¢st
KlistiL1 y=a+bx
Yl 1st. L2 B#B_and_prBd
Ft eq. 1Tp=.8021788162
9 5 <0 >8 df=9
Re a=3.060909091
Calculate +b=.95

The regression line has the format y = a + bx, where a = 3.000909091 and b = .5 in the
example above (see the last screen shot above). In other words, the regression line for the
example above is y = 3.000909091 + .5x.

To obtain a scatterplot, press 2nd, then Y= (for STAT PLOT). Select the first option and
press ENTER. Press enter again to turn Plot 1 on, then select the first graph type, which
resembles a scatterplot. Set the X-list to L1 and the Y-list to L2. Now press the ZOOM key
and select ZoomStat. It will now display a scatterplot as shown below.

AT- PLOTS p Plot2 Plot3 MEMORY . o
Un iy Off ecimal : g2 %0

LU L2 o upet B [ 4 S-quuar*e : o °
2:Plot2. Of‘f‘ |, W MR 6: Z25tandard : o

Lot L2 KlistzL 7t 5Trio :
3‘[—:‘_]:0*3 OFF Ylistil: 8: ZInteger e

ol L2 e Mark: B + - cBZcomstat T a
44PlotsOff LoomFit L Lo oL
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If you would also like to display the regression line along with the scatterplot, press the Y=
button and enter the regression line for Y1= by going to VARS, then select Statistics,
highlight EQ, and choose option 1:RegEQ. Then press the GRAPH button. It will now
display the scatterplot along with the regression line as shown in the last screen shot
below.

Plotz Plot3 Yilids Y-VARS XY = TEST PTS
=N tWindouw... R

We= 2% 2000... ia

\WYa= 3'GDB 3tb

Wy= 3:Pictyre.. 4ic
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\Yr= ?SS rind.. dr

Flot2 Plot3

Wi E«9B9091+ SKB
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Wys= .
ez -
~ = a
Vo= .

.............
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